AMICO

. ARCHITECTURAL METALS

COMMON EXPANDED MESH ATTACHMENT DETAILS



LONG ATTACHMENT CLIPS

I8GA. VERTICAL H-BAR B/O

BEHIND VERTICAL CLADDING B/O a3
132)5,"1
25
e 32 ol
3, 13 " 234,11
05" T 05"

EXPANDED MESH PANEL

VERT. CLADDING PANEL B/O ———

VERT. 18GA. H-BAR B/O

I0GA. 55 'LONG' PANEL o
MOUNTING BRACKET 25
MILL FINISH -~
R g
|
® 55 HOLE IN BRACKET ]
4 X 1" LONG $S HEX HEAD
SELF DRILLING SCREW 1
F :/‘/-/A/-/ i
V420 X ¥ N /U/M/W% -
S5 THSMS ) N
~
) ~

® 55 HOLE IN PANEL
AND BRACKET

1/4-20 SS HEX NUT
C/W LOCK WASHER

13

ELEVATION DETAIL 2 SECTION DETAIL
SCALE: I:1 SCALE: Il

AMICOARCHITECTURAL.COM / 1.833.333.3902 I’ AMICO
e

ARCHITECTURAL METALS



SHORT ATTACHMENT CLIPS I

18GA. VERTICAL H-BAR B/O =
BEHIND VERTICAL CLADDING B/O
"
25
0
0" 32 ,
13 13 7! %"
5" ’{ 05"

EXPANDED MESH PANEL

VERT. CLADDING PANEL B/O

VERT. 18GA. H-BAR B/O

|
|
|
|

10GA. SS 'SHORT' PANEL
MOUNTING BRACKET
MILL FINISH

0 5h HOLE IN BRACKET

52
12"

4 X I" LONG S HEX HEAD
SELF DRILLING SCREW

1/4-20 X 3' 55 THSMS

® 55 HOLE IN PANEL
AND BRACKET

1/4-20 S5 HEX NUT
C/W LOCK WASHER

SECTION DETAIL

1 ELEVATION DETAIL 2
SCALE: Il SCALE: Il

¢ AMICO

AMICOARCHITECTURAL.COM / 1.833.333.3902 I
. ARCHITECTURAL METALS



T-CLIP ATTACHMENT

/
\

ot

BN

" THICK S5 MESH
MOUNTING BRACKET

= =
AMICO

o
'
6" x 2" x " TUBE
o 6063-T6, BY OTHERS
Al 30 |50 1/4-14 x V' S5 SELF TAPPING
%' T/&tl %' MACHINE SCREW, BY OTHERS
1/4-20 x 3," STAINLESS
N STEEL TRUSS HEAD
= MACHINE SCREW C/W
A WASHER ¢ NUT, TYP.
_ = = == =
3\%2\\ LL&H 3\;/32\\
£
.
Ao AMICO
ALUM. MESH PANELS
6" x 2' x " TUBE
6063-T6, BY OTHERS
o

-

b

AMICO
ALUM. MESH PANELS

174-14 x ]}/4” SS SELF TAPPING
MACHINE SCREW, BY OTHERS

1/4-20 x 3" STAINLESS
STEEL TRUSS HEAD
MACHINE SCREW C/W
WASHER ¢ NUT, TYP.

AMICOARCHITECTURAL.COM / 1.833.333.3902

<>\( ALUM. MESH PANELS

J" THICK 5 MESH

L— §> @ MOUNTING BRACKET
N~ 1

J" THICK 55 MESH —]
MOUNTING BRACKET

L

EE}

b3

A

6" x 2" x 3" TUBE
6063-T6, BY OTHERS

AMICO
ALUM. MESH PANELS

NN

12%52"

U

1/4-14 x " S5 SELF TAPPING
MACHINE SCREW, BY OTHERS

1/4-20 x ¥," STAINLESS
STEEL TRUSS HEAD
MACHINE SCREW C/W
WASHER ¢ NUT, TYP.

ARCHITECTURAL METALS

IQ.AMICO



MULLION ATTACHMENT EXAMPLE

REINFORCEMENT INSIDE MULLION AT
SCREEN LOCATIONS, BY OTHERS

CURTAIN WALL MULLION, BY OTHERS

GLAZING/CURTAIN
WALL BY OTHERS 1

%" x 2 )," BENT STEEL —
OUTRIGGER, (TYPE "D")
(TYPE "DY" AT HORIZONTAL
MESH  JOINTS)

18%,"

34" x 2 )," BENT STEEL — |
OUTRIGGER, (TYPE "C")
(TYPE "CY" AT HORIZONTAL

MESH JOINTS) ?

25" x K" THICK ALUM. MOUNTING —]
BRACKET (TYPE "I") (TYPE "IY"
AT HORIZONTAL MESH JOINTS)

(TYPE "B"), (TYPE "BY" AT
HORIZONTAL MESH JOINTS)

2" x H," THICK ALUM.

MOUNTING BRACKET (TYPE
20), (TYPE "2v1", "2v2" AT
HORIZONTAL MESH JOINTS)

AMICO APEXO! J3" ALUM.
EXPANDED MESH PANELS

\O)/QH 3‘}/2\\

3" x 2 5" BENT STEEL OUTRIGGER, —

%" x 2 Jo" BENT STEEL OUTRIGGER,
(TYPE "E'), (TYPE "EYI' ¢ "EY2"
AT HORIZONTAL MESH JOINTS)

%" x 2 )/?"' BENT STEEL OUTRIGGER,
(TYPE

F'), , (TYPE "FYI' & 'FY2!
AT HORIZONTAL MESH JOINTS)

BRACKET (TYPE "2")
(TYPE "2Y1" ¢ *2v2")

e

33,0

27/5\\

33)/2u

2}/&”

%" x 2 ;" BENT STEEL OUTRIGGER,
(TYPE "B"), (TYPE "BY" AT

2 )5" x 6" x Jp' THICK
HORIZONTAL MESH JOINTS)

METAL SUPPORT BLADE,
(T600-9906) BY OTHERS

I )5-13 x 2 Jj;' LONG STEEL BOLT
ASSEMBLY, BY OTHERS %" x 2 ' BENT
STEEL OUTRIGGER,
(TYPE "A"), (TYPE
'AY' AT HORIZONTAL
MESH JOINTS)

T %" x 2 )/2 BENT STEEL OUTRIGGER
(TYPE 'C"), (TYPE "CY' AT
HORIZONTAL MESH JOINTS)

5" x H," THICK ALUM. MOUNTING
/BRACKET (TYPE "3") (TYPE "3YI" ¢
"3Y2" AT HORIZONTAL MESH JOINTS)

SIA a3,

49" MESH

38" MESH

3%

49" MESH

AMICOARCHITECTURAL.COM /

BRACKET (TYPE "3')
(TYPE "3YI" ¢ "3v2")

1.833.333.3902

" BRACKET (TYPE "3" "
% (TYPE ”3\((\” ¢ ”3Y2”§ ]}/2
T\ PLAN SECTION AT TRIPLE PANELS

SCALE:

10"

PLAN SECTION AT Y BRACKETS

5" x A" THICK ALUM. MOUNTING
BRACKET (TYPE "4") (TYPE "4YI" ¢
"4Y2" AT HORIZONTAL MESH JOINTS)

ARCHITECTURAL METALS

Q.AMICO



TENSION CABLE ATTACHMENT (PART

85" BRACKET

CLAMP PLATE
B/O

3/8-16 x 13/"(44mm) S5 HEX BOLT
C/W FL/LC WASHERS AND NUT
(BOLT TO BE TACK WELDED

TO BRACKET) B/O

[ 11"

38mm 49mm

1\5/(‘;\

by

49mm

A

19mm

A

19mm

12mmé S5 WIRE /4

38mm

A

ROPE B/O 19mm

19mm

|2
38mm

Yo"

—— TACK WELD

T4

69mm

TTmm 7

22mm 1/4-20 x ¥4'(19mm)

SS PHMS C/W LOCK

H"(5mm) X 16"(38)mm
S5(316) TYP. 'T' BRACKET

134" PLATE
44mm

WASHER AND NUT

%" TYP. GAP

PLAN SECTION
SCALE- 1l
3/8-16 x 134'(44mm) SS HEX BOLT
C/W FL/LC WASHERS AND NUT
(BOLT TO BE TACK WELDED
TO BRACKET) B/O

3/8-16 x 13/"(44mm) SS HEX BOLT
C/W FL/LC WASHERS AND NUT
(BOLT TO BE TACK WELDED

TO BRACKET) B/O

2234,

69rmm

A

174" MESH
3Tmm 38mm

CLAMP PLATE B/O
(BEYOND)

134" PLATE

APEX0I REVERSE DIAMOND
J&"(3mm) ALUM MESH PANEL

\‘44mm‘\ i
| | |

85" BRACKET

u/zu
38mm

Hp"(5rm) X 15" (38)mm

- ROPE B/O

AMICOARCHITECTURAL.COM /

12mme SS WIRE

I T2Z0mra 1
59" by
T43mm 38mm

10mm

Jo'e WIRE

13mm

|

|

‘ Ba" TYP. GAP
T

|

|

1.833.333.3902

1/4-20 x ¥4"(1%mm)
55 PHMS C/W LOCK
WASHER AND NUT

| —  55(316) TYP. 'T' BRACKET

TACK WELD

CLAMP PLATE |
B/O

16mm

V4" PLATE
32mm

16mm "

)5'9 WIRE

12mm

u/ "
38mm

25"
67mm

15/32u
12mm

25"
T7mm

SIDE SECTION
SCALE- Il

‘.

T 12mm¢ 55 WIRE

ROPE B/O

AMICO

ARCHITECTURAL METALS



TENSION CABLE ATTACHMENT (PART 2)

13" PLATE
4mm

YA

e

TTmm)

CLAMP PLATE B/O

TTmm

Yy
PLATE
m

T
12mmé 35 WIRE |
T
|
|

3/8-16 x 13"(44mm) SS HEX BOLT

[ C/W FL/LC WASHERS AND NUT

(BOLT TO BE TACK WELDED

TO BRACKET) B/O

| TACK WELD

174-20 x ¥"(19mm)

55 PHMS C/W LOCK
WASHER AND NUT

/

. ROPE B/0
¥, "(5mm) X 15"(38)mm i i
58(316) TYP. 'L' BRACKET \
_ e
BN
_ M
e
O E
>
B
] \/
&
£
=€
oA
S

2" BRACKET
5Tmm

PLAN SECTION
SCALE- 11l

2" BRACKET

51mm

CLAMP PLATE B/O
(BETOND)

¥ (5mm) X 5" (38)mm
S5(316) TYP. 'L' BRACKET

I
| 1)%"e WIRE
T2mm

12mmé 5S WIRE
ROPE B/O

FRONT VIEW
SCAL

AMICOARCHITECTURAL.COM / 1.833.333.3902

3/8-16 x \3/4”(44mm) 55 HEX BOLT
C/W FL/LC WASHERS AND NUT
=" (BOLT TO BE TACK WELDED

TO BRACKET) B/O

60mm

1/4-20 x ¥4"(19mm)

5SS PHMS C/W LOCK
WASHER AND NUT

" (5mm) X 15"(38)mm
55(3l6) TYP. 'L' BRACKET

778
SIDE SECTION i/
SCALE- I:1

APEXO!I REVERSE DIAMOND
J6"(3rmm) ALUM MESH PANEL

Lo

3/8-16 x 13"(44mm) S5 HEX BOLT
C/W FL/LC WASHERS AND NUT
(BOLT TO BE TACK WELDED

TO BRACKET) B/O

4" PLATE
Bmm
= JE
95w
- E
<|g
4 15
R
=olE |
2%§
=ofE
05

)"t WIRE

12mm

12mm® 5SS WIRE
ROPE B/O

I

AMICO

ARCHITECTURAL METALS

‘.




TENSION CABLE ATTACHMENT (PART 3)

APEXOl REVERSE DIAMOND
JB"(3mm) ALUM MESH PANEL

Ja'(3mm) x F,"(19mm) X 2" (57mm)
ALUM. 'V' CLIP (PANEL TO PANEL)
FORMED TO ORIENT TO WEB OF TMESH
PANELS

Ja"(3mm) x F4"(19mm) X 2" (57mm)
ALUM. 'V' CLIP (PANEL TO PANEL)
FORMED TO ORIENT TO WEB OF MESH
PANELS

J4"(6rm) ALUM. RIVET B/O

OUTSIDE INSIDE

A (Brmm) X 13,"(44rmm) SLOT

S,"(8mm) HOLE IN MESH PROVIDED
Y4"(6mm) ALUM. RIVET B/O

APEX0l REVERSE DIAMOND
H¢"(8mm) HOLE ON MESH PROVIDED

J6'(3mm) ALUM MESH PANEL

PLAN SECTION Brm® X 44mm SLOT RIVET CROSS SECTION
SCAL 1:1

SCALE- 1:1

Yo' (3mm) x F"(19mm) X 2,"(57mm) ALUM.
'V' CLIP (PANEL TO PANEL) FORMED TO
ORIENT TO WEB OF MESH PANELS

APEXOl REVERSE DIAMOND
J&'(3MM) ALUM MESH PANEL

J4"(6rm) ALUM. RIVET B/O

§'3mm) x 3'(19mm) X 24'(57mm)
ALUM. 'V' CLIP (PANEL TO PANEL)
FORMED TO ORIENT TO WEB OF

BmmM® X 44mm SLOT MESH PANELS

FRONT VIEW SIDE SECTION
SCALE- Il SCALE- 111

AMICOARCHITECTURAL.COM / 1.833.333.3902 I‘ AMICO
L

ARCHITECTURAL METALS




TENSION CABLE ATTACHMENT (PART 4)

%!
207mm

PLATE B/O

( ( HSS BEAM B/O

i

315/{ "
100mm

15)5" (394mm )MAX.

CLIPS ARE NOT TO ATTACH
AT THREADED LOCATIONS.

M
x [N [l
N

-0s82€ ‘
e
4
235mm

10-0024-0

27"

2imm
32850-1200-01 29 E
SS WIRE N
HARDWARE B/O 012

C/W FL/LC WASHERS AND NUT
(BOLT TO BE TACK WELDED
TO BRACKET) B/O

T
|
— ‘ [ 3/8-16 x 2"(5lmm) 55 HEX BOLIT
|
|

3" (5mm) X 15"(38)mm
S5(316) 'L' BRACKET AT
WIRE FITTING SHAFTS

VARIES

Yo" MESH | 2 L
G \\ J)

APEXOI REVERSE DIAMOND
J6"(3mm) ALUM MESH PANEL

3/8-16 x 13/"(44mm) SS HEX BOLT
C/W FL/LC WASHERS AND NUT
(BOLT TO BE TACK WELDED

TO BRACKET) B/O

H"(5mm) X 15"(38)mm
S5(316) TYP. 'L' BRACKET

12mmé 5SS WIRE

ROPE B/O >//
AMICOARCHITECTURAL.COM / 1.833.333.3902 I‘ AMICO
L

ARCHITECTURAL METALS

)" WIRE

12mm




OUTSIDE CORNER MITER CUT

NOTES:

I ALL FASTENING LLOCATIONS TO ALIGN
WITH OPENINGS IN MESH, TYP.

|

2. AMICO SUPPLIES ALL FASTENERS TO
CONNECT MESH TO BRACKETS,
FASTENERS CONNECTING BRACKETS TO
MOUNTING SURFACE ARE B/O.

=

<]

L

AT

OUTRIGGERS, VERT MESH J
SUPPORTS ¢ FASTENERS
ARE B/O

—fi

AMICO APEXO! Jg" ALUM MESH
PANEL |

LINE OF WEST ELEVATION
MOUNTING SURFACE

LINE OF NORTH ELEVATION
[ MOUNTING SURFACE

"

N
ES
=

}

|
3" SUPPORT

5" OFFSET TrP
45

&
-
N\

x
|
vi
fi
|
474\
‘3/‘5
MZ

>\ R S |
H N
% | 3w %" FROM MOUNTING
# 10ga. x VQ” SS 'L' BRACKET SURFACE TO END OF ELEVATION ‘
‘\/zu
BRACEKT

AMICOARCHITECTURAL.COM / 1.833.333.3902 I‘ AMICO
L

ARCHITECTURAL METALS



OUTSIDE CORNER BAR-REVEAL

T 1/4-20 x 1" PHMS
3/ 1]
i c/?mﬁfé glj—?gGGER* ¢/ LC WASHER
T ¢ NUT A" x 3Y4" CONT.
o ALUM FB REVEAL
o~
o~ 4
—
N / 1/4-20 x 5" PHMS
] 1 C/W FL/LC WASHERS
/ / & NUT
= Ve
-8
T ]
0 v 37/(6" | %0@
g | I
=+ | I
o 5. s :
| I
| [
7
T 34" x 3" ALUM
N CORNER OUTRIGGER
7777777777777 — ] Y
I | n
| |
| NO VERT HSS AT | | PASTENERS B/O,
| CORNER, TYP. | F2" x 1" SLOT PROVIDED
| |
| |
\ 4
‘ =
] < | + ALUM 'U' CHANNEL,
g i_EXISTING cone. T, | | v B/O.
WALL < =
W < N } } 3/8" ‘-0\
v N 9 | ‘
v T v \ \ AMICO APEX03 J4'
¥ ) v \ \ ALUM MESH PANEL
| |
<
| :
5 N v \ \ HORIZONTAL HSS GALV.
v ; \ ! STL. TUBE, B/O
v < \//\} }
6" HSS 2" 13{," MESH
e

AMICOARCHITECTURAL.COM / 1.833.333.3902 I‘ AMICO

. ARCHITECTURAL METALS



ARCHITECTURAL METALS

¢ AMICO

@ \
| = ]
i - w =
£l RS =
EEEEEEEEEEEEE % — \ /\ /\ Wu E m
—— m
{ . TN |
e P g L [ L
===l =1 [
— L TAVAVALY
_M 0,0,0,0.0,0, yoyoyo@%yo»o»o» »i%o»o»o»oyi 0000000, 00K &V»O»o»o»o»o{o(o -
= V VAVAVAV VAVAVAVAY V\V VAVAVAVAY V)\VA\V)\V VAVAVAVAY
z T O
- A ALERGRhRRERND AanAn o
- A oA
OO N
O A SRERERORALAGG e .
< AR RnLEERGERORREERANBONRELALRONRALAG! S
_l
ARORELEERGERARARERANBOLEELALRONRELAL A
— OO e
< IR OO z,ox
a 00! 0
>

.833.333.3902

/

AMICOARCHITECTURAL.COM



FRAMED PANEL WITH U-BRACKET

/ . 3/8-16" STAINLESS STEEL
MASONRY EXPANSION

ANCHORS, TYP.

|+——————————— 1/4" THICK STAINLESS STEEL
U-BRACKET WITH SLOTED
HOLES FOR MOUNTING PANELS
AND ANCHORING

4[102)

I
2'[51) i

[125]

15,
6

12" (44) 14 138) 1§ 129]
1/4-20 x 1" STAINLESS
/ STEEL BOLT ASSEMBLY
]
Ej 1/4" ALUMINUM FLAT
/ BAR FRAME

6'[152)

2'[51)

APEX03 EXPANDED MESH WELDED
TO 1/8" ALUMINUM FLAT BAR FRAME

/"1 PLAN SECTION DETAIL

\ﬂ/ SCALE: 6" = 10"

AMICOARCHITECTURAL.COM / 1.833.333.3902 I‘ AMICO
./\RCHITECTuR/\LMET/\LS



EXPANDED MESH WITH SUB-GIRT I

B 2% K o A
Y
NS
T T
| |
I I
| 1 1
| | 10ga (.140") S5
, : : FORMED PANEL
o | | CLIP, BY RBI
« ! ! Y4 x 1" LONG HEX HD S
V' x 1" LONG HEX H | m 3
I 2
x I LO EX HD | |
4 G ! !
S5 SELF-DRILLING ! | J4t % ' LONG HEX HD 41 x o' HORIZONTAL
| T 5S SELF-DRILLING STEEL STRUCTURE, B/O
SCREWS, BY RBI | =R
! ! }
o
! ]
| N /7
§ 4 | | - 4
- o O O b —— z B I [ -
T < = | o
& ! [
. |
¢ £ M .
3 i i 7y |
- = Wi =7\ I
o | [
5 4 } b Q
Y I o o
7 1 1 o N
< . Al a
g | _ } g; ?asxms/“ ! ! g
S i & % ! Lo B z
e = I [ N ~
| 1/4-20 55 HEX NUT| | N
‘ n | C/W LOCK WASHER | | o
)/2 GAP T /W PERMANENT | | u
I — ! LoC-TITE [ o
| N :
%
) B
! [
! f \ [ L -
/ \/_\/ » §\/_\ ! K J Do S
~ = ! [
B | | ‘ >~ 1 P =
\ [
\/ | [
\{_. ‘ . K
! [
! |
| T
I I
| |
I I
7 7
1 ‘ 1
S | 3" ANGLE, B/O
¢ T
| | Y4 x 3" x 3" STEEL
! } ANGLE BRACKET, B/O
I I
| |
I I
| |
I I
| |
I I

AMICOARCHITECTURAL.COM / 1.833.333.3902 I‘ AMICO

. ARCHITECTURAL METALS



